



कार्य का नाम– अध्यक्ष ⁄ आयुक्त कैम्प कार्यालय के अनुरक्षण सम्बन्धी कार्य।

अनुमानित लागत—	: रू0-7.94 लाख (नियमानुसार जी.एस.टी. अलग से देय होगा)
निविदा प्रपत्र का मूल्य—	: रू0—5000+900 = 5900.00
धरोहर राशि	: रू0—0.80 लाख
कार्य पूर्ण करने की अवधि	: 01 माह
अनुरक्षण अवधि	ः कार्य समाप्ति से 01 वर्ष
फर्म/ठेकदार का नाम	:
निविदा की वैधता	: 90 दिन
निविदा प्राप्ति तिथि	: 22.03.2023, 3.30 बजे अपरान्ह (अधिशाषी अभियंता एवं सचिव कार्यालय कक्ष में स्थिति टेण्डर बाक्स में)
निविदा खोलने की तिथि	: 22.03.2023 4.00 बजे अपरान्ह

## बस्ती विकास प्राधिकरण–बस्ती

## Abstract of Cost

## कार्य का नाम- अध्यक्ष / आयुक्त कैम्प कार्यालय के अनुरक्षण सम्बन्धी कार्य

Sr.No.	Item	Quantity	Unit	Rate	Amount
1	Providing corrugated G.S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumern and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paints on overlaping of sheets complete excluding the cost of purlins rafters and trusses and including cutting to size and shape wherever required. 1.00mm thick with zinc coating( as per SI No. 12.1.1)	75.00	SQM	1320.35	99026.25
2	M/S or Iron work in heavy size such as builtup gates trusses etc. as per SI No. 503, 2"dia ms pipe	2.00	QTL	8600.00	17200.00
3	Providing and laying vitrified floor files Kajaria KERRO Brand of Equivalent brand of super quaility in different size (thickness specified by manufacturer) with water absorption less than 0.8 % and confirming to IS 15662 of approved make in all colors & shade laid on 20mm thick cement mortar. 1:4 (I cement 4 coarse and) including prgments etc complete. (size of tiles 600x600mm) As per SI No.17-11.41.1	11.00	SQM	1220.00	13420.00
4	Ceramic tiles in flooring laid on a bed of 10 mm cement mortar 1:3 (I cement 3 coarse sand) finished with flush pointing with white cement slurry. As per SI NO.12.26	20.00	SQM	1135.00	22700.00
5	P/F ISI marked flush door shutters conforming to IS:(Part I) decorative type, core of block board construction with frame of 1st class hard wood and well matched teak 3 ply veneering with vertical grains or corss bands and face veneers on both faces of shutters. as per SI no-920.1	25.00	SQM	3086.10	77152.50

6	P/F wash basin 630x450 mm with a pair of 15 mm dia CP brass piller taps. C.I. brackets, 32 mm C.P. brass waste of standard pattern, including painting of fitting and brackets etc. (as per SI no. sor 5/17.7.1)	2.00	NOS	3183.00	6366.00
8	P/F P.V.C. low level flushing cistern 10 leter with manually controlled device (as per SI no. 11/17.18.1)	3.00	NOS	1231.00	3693.00
9	S/F C.I. cover 455x610 mm rectangle without frame light duty (as per SI no. 21/19.18.1)	3.00	NOS	1102.00	3306.00
10	S/F of wood wall pannelling DM office approved rate	42.00	SQM	9100.00	382200.00
11	Provinding and injecting chemcial emulsion for Post-constructional antiermite treatment and creating a chemical barries under floor, walls and chaukhets as per direction of E/I. as per SI No. 22.41(b)	550.00	SQM	220.00	121000.00
					746063.75
	Electrical Wrok				47742.00
					793805.75
		18 % GST=			142885.04
					936690.79

I/We am/are registered as..... Class contractor for work of Road, Building, Sewer Water Main and Electrical Works for the Current year and am/are auhtorized to tender for this work according to registration.

				Date			Name of F	Rank/nost		
					u			antipost		
office.										
Rs										
-										
-	l/We	hereby	agree	to	execute	the	above	work	at	(in

Opened by me.

CONTRACTOR

J.E.	A.E.	E.E.